
model HS11
Mounting Frame, Single Rivive Fountain W/Cord

FEATURES & BENEFITS

CONSTRUCTION
Constructed of 16 gauge galvanized steel with welded-in heavy-duty
10 gauge mounting plate, this frame provides the needed support for
Haws 1001 series drinking fountains along with added corrosion
resistance for long life.

MOUNTING
Normally mounted in advance, this frame allows for precise mounting
and superior �nish when aesthetics is a must.

OPTIONS

For more information, visit www.hawsco.com or call (888) 640-4297.

SPECIFICATIONS

Model HS11 in-wall mounting frame is made of 18 gauge galvanized
steel with welded-in heavy-duty 12 gauge mounting plate with pre-
punched mounting holes. For use with Haws single Rivive series
fountains and the 2000HSA.8

APPLICATIONS

Haws produces mounting plates and frames to assist in the installation
process as well as to provide solid bases for the wall mounted designed
fountains. Mounting plates and frames meet the requirements solely for
the speci�ed applicable fountains and are not designed to be used in the
installation of any unspeci�ed fountain.

1455 Kleppe Lane :: Sparks, NV 89431 :: p. 775.359.4712 :: f. 775.359.7424 :: e. info@hawsco.com :: www.hawsco.com :: 28 Jan, 2025
DISCLAIMER: Continued product improvements make speci�cations subject to change without notice. Check www.hawsco.com for the latest product information and updates.

https://www.hawsco.com/


 37 1/4"
946mm

 

 47 7/8"
1216mm

 

 18 5/8"
473mm

 

 47 7/8"
1216mm

 

HS12
(DUAL FOUNTAIN MODELS)

HS11
(SINGLE FOUNTAIN MODELS)

NOTES:
  1.  HOLD ROUGH-IN DIMENSIONS ±1/4" (6.4mm).
  2.  WHEN INSTALLING THIS UNIT, LOCAL, STATE, OR FEDERAL CODES SHOULD BE 

ADHERED TO. FOR CHILD-HEIGHT INSTALLATIONS ON 1107 MODELS, REDUCE 
DIMENSIONS MARKED (*) BY 3" [76mm].

© 2024 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

 

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONDHP 12/15/22 1
1:20JU 07/08/24 DRAWING TYPE: SIZE:   A

6000
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
6000

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

DHP
ECN:

SHEET 1 OF 6

0510002253.DHS11 & HS12, IN-WALL FRAME

P
A

G
E

 1
 O

F 
6

P
A

G
E

 1 O
F 6



 18 5/8"
473mm

 

 1 1/8"
29mm

 

37 1/4" MIN
946mm MIN

WALL OPENING

47 7/8" MIN
1216mm MIN

WALL OPENING

4"
102mm

TO FINISH
FLOOR

 5 3/8"
136mm

 

 1 11/16"
44mm

 

 0"
0mm

 

 23 1/2"
597mm

 

 24 13/16"
631mm

 

 11 11/16"
296mm

 

 A  

 B  

CL

CENTER OF ELECTRICAL 
JUNCTION BOX (SUPPLIED, 
PART OF FRAME)
(120V 15A GFCI-PROTECTED 
CIRCUIT)

RECOMMENDED 
WATER SUPPLY 
LOCATION

HCR8 ELECTRICAL 
LOCATION (120V 15A 
GFCI-PROTECTED 
CIRCUIT, CHILLED 
MODELS ONLY)

2X6 MIN HEADER 
(BY OTHERS)

WALL CONSTRUCTION 
(BY OTHERS)

C
WALL DEPTH

FROM FINISH WALL

FINISH WALL
  3.  ROUGH IN WALL CAVITY WITH DIMENSIONS SHOWN.  ROUGH IN ELECTRICAL, WASTE PIPING, AND WATER SUPPLY AS 

REQUIRED.  BE SURE ELECTRICAL, WASTE PIPING, AND WATER SUPPLY IS CLEAR OF THE INSTALLED LOCATION OF THE 
CHILLER, IN WALL FRAME, AND BOTTLE FILLER.

TYPICAL WALL OPENING

A B

FOUNTAIN 
MODELS

LOW SIDE 
DRAIN

HIGH SIDE 
DRAIN

WASTE 
BEND SIZE

1001/1011 28" 
[711mm]

33 1/2" 
[851mm] 1-1/4"

1107/1117 27 5/16" 
[694mm]

32 13/16" 
[834mm] 1-1/4"

1109/1119 28 1/4" 
[718mm]

33 3/4" 
[857mm] 1-1/4"

C

CHILLED 
MODELS

11" MIN 
[279mm] MIN

NON-CHILLED 
MODELS

6" MIN 
[152mm MIN]

© 2024 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

 

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONDHP 12/15/22 1
1:20JU 07/08/24 DRAWING TYPE: SIZE:   A

6000
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
6000

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

DHP
ECN:

SHEET 2 OF 6

0510002253.DHS11 & HS12, IN-WALL FRAME

P
A

G
E

 2
 O

F 
6

P
A

G
E

 2 O
F 6

D
U

A
L FTN

 R
O

U
G

H
 IN

 (FR
AM

IN
G

, ELEC
TR

IC
AL, AN

D
 PLU

M
BIN

G
)

D
U

A
L 

FT
N

 R
O

U
G

H
 IN

 (F
R

AM
IN

G
, E

LE
C

TR
IC

AL
, A

N
D

 P
LU

M
BI

N
G

)



C  MIN
WALL DEPTH

FROM FINISH WALLA
FINISH FLOOR

FINISH WALL

ELECTRICAL 
JUNCTION BOX 
(SUPPLIED)

16X 5/16" 
STRUCTURAL 
SCREWS (NOT 
SUPPLIED)

2X6 MIN HEADER 
(BY OTHERS)

SOLID BLOCKING 
OR CRIPPLE STUD 
INSTALLED MID 
SPAN (BY OTHERS)

FRAME INSTALLATION

DETAIL A

4X 5/16" NUT 
(SUPPLIED)

4X 5/16" BOLT 
(SUPPLIED)

B

DETAIL B
PANEL CLIP 

INSTALL
(4 PLACES)

PANEL CLIP 
(SUPPLIED)

#10 NUT 
(SUPPLIED)

B

PANEL CLIP INSTALLATION

  4.  BOLT FRAMES TOGETHER USING 4X 5/16" BOLTS AND NUTS AS SHOWN (DETAIL A).  INSTALL 4X PANEL CLIPS (DETAIL B) USING 
#10 NUTS (SUPPLIED).

  5.  MOUNT FRAME ASSEMBLY INTO WALL CAVITY USING 16X STRUCTURAL SCREWS (NOT SUPPLIED), USE SHIMS AS NEEDED AND 
ENSURE THE FRAME IS SQUARE.  ON CHILLED MODELS, DO NOT INSTALL THE 2X STRUCTURAL SCREWS IN THE BASE OF THE 
RIGHT SIDE FRAME UNTIL THE REST OF THE UNIT IS BEING INSTALLED.

UPPER 
PANEL 
CLIPS

LOWER PANEL 
CLIPS 

© 2024 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

 

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONDHP 12/15/22 1
1:20JU 07/08/24 DRAWING TYPE: SIZE:   A

6000
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
6000

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

DHP
ECN:

SHEET 3 OF 6

0510002253.DHS11 & HS12, IN-WALL FRAME

P
A

G
E

 3
 O

F 
6

P
A

G
E

 3 O
F 6

D
U

A
L FTN

 FR
A

M
E IN

STA
LLA

TIO
N

D
U

A
L 

FT
N

 F
R

A
M

E 
IN

ST
A

LL
A

TI
O

N



C  MIN
WALL DEPTH

FROM FINISH WALL

FINISH WALL

 8 3/16"
208mm

 

18 5/8" MIN
473mm MIN

WALL OPENING

47 7/8" MIN
1216mm MIN

WALL OPENING

* 4"
102mm

TO FINISH
FLOOR

 3 15/16"
100mm

 

 1 11/16"
44mm

 

 0"
0mm

 

* 23 1/2"
597mm

*24 13/16"
631mm

*11 11/16"
296mm

 A  

CL

CENTER OF ELECTRICAL 
JUNCTION BOX (SUPPLIED, 
PART OF FRAME)
(120V 15A GFCI-PROTECTED 
CIRCUIT)

RECOMMENDED 
WATER SUPPLY 
LOCATION

HCR8 ELECTRICAL 
LOCATION (120V 15A 
GFCI-PROTECTED 
CIRCUIT, CHILLED 
MODELS ONLY)

2X6 MIN HEADER 
(BY OTHERS)

WALL CONSTRUCTION 
(BY OTHERS)

  6.  ROUGH IN WALL CAVITY WITH DIMENSIONS SHOWN.  ROUGH IN ELECTRICAL, WASTE PIPING, AND WATER SUPPLY AS 
REQUIRED.  BE SURE ELECTRICAL, WASTE PIPING, AND WATER SUPPLY IS CLEAR OF THE INSTALLED LOCATION OF THE IN 
WALL FRAME, AND BOTTLE FILLER.

TYPICAL WALL OPENING

A

FOUNTAIN 
MODELS

DRAIN 
HEIGHT

WASTE 
BEND SIZE

1001/1011 28" 
[711mm] 1-1/4"

1107/1117 *27 5/16" 
[694mm] 1-1/4"

1109/1119 28 1/4" 
[718mm] 1-1/4"

C (REF)

CHILLED 
MODELS

11" MIN 
[279mm] MIN

NON-CHILLED 
MODELS

6" MIN 
[152mm MIN]

© 2024 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

 

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONDHP 12/15/22 1
1:20JU 07/08/24 DRAWING TYPE: SIZE:   A

6000
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
6000

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

DHP
ECN:

SHEET 4 OF 6

0510002253.DHS11 & HS12, IN-WALL FRAME

P
A

G
E

 4
 O

F 
6

P
A

G
E

 4 O
F 6

SIN
G

LE FTN
 R

O
U

G
H

 IN
 (FR

AM
IN

G
, ELEC

TR
IC

AL, AN
D

 PLU
M

BIN
G

)
SI

N
G

LE
 F

TN
 R

O
U

G
H

 IN
 (F

R
AM

IN
G

, E
LE

C
TR

IC
AL

, A
N

D
 P

LU
M

BI
N

G
)



C  MIN
WALL DEPTH

FROM FINISH WALL
FINISH FLOOR

FINISH WALL

ELECTRICAL 
JUNCTION BOX 
(SUPPLIED)

12X 5/16" 
STRUCTURAL 
SCREWS (NOT 
SUPPLIED)

2X6 MIN HEADER 
(BY OTHERS)

FRAME INSTALLATION

C

DETAIL C
PANEL CLIP 

INSTALL
(4 PLACES)

PANEL CLIP 
(SUPPLIED)

#10 NUT 
(SUPPLIED)

C

PANEL CLIP INSTALLATION

  7.  INSTALL 4X PANEL CLIPS (DETAIL C) USING #10 NUTS (SUPPLIED).
  8.  MOUNT FRAME ASSEMBLY INTO WALL CAVITY USING 12X STRUCTURAL SCREWS (NOT SUPPLIED), USE SHIMS AS NEEDED 

AND ENSURE THE FRAME IS SQUARE.  DO NOT INSTALL THE 2X STRUCTURAL SCREWS IN THE BASE OF THE FRAME UNTIL 
THE REST OF THE UNIT IS BEING INSTALLED.

UPPER 
PANEL 
CLIPS

LOWER PANEL 
CLIPS 

© 2024 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

 

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONDHP 12/15/22 1
1:20JU 07/08/24 DRAWING TYPE: SIZE:   A

6000
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
6000

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

DHP
ECN:

SHEET 5 OF 6

0510002253.DHS11 & HS12, IN-WALL FRAME

P
A

G
E

 5
 O

F 
6

P
A

G
E

 5 O
F 6

SIN
G

LE FTN
 FR

A
M

E IN
STA

LLA
TIO

N
SI

N
G

LE
 F

TN
 F

R
A

M
E 

IN
ST

A
LL

A
TI

O
N



DETAIL D
DRYWALL TAB REMOVAL

(4 PLACES)

C  MIN
WALL DEPTH 

FROM FINISH WALL

 26 5/8"
676mm

 

 D  
D

FINISH FLOOR

FINISH WALL

ELECTRICAL 
JUNCTION BOX 
(SUPPLIED)

5/16" 
STRUCTURAL 
SCREWS (NOT 
SUPPLIED)

2X6 MIN HEADER 
(BY OTHERS) E

F

F

G
G

C

VIEW ON F-F
(ENLARGED)

DETAIL C
SCALE 1 : 3

DRYWALL
STUD

TOP OF 
FRAME

E

DETAIL E
PANEL CLIP 

INSTALL 
(2 PLACES)

#10 NUT 
(SUPPLIED)

PANEL CLIP 
(SUPPLIED)

VIEW ON G-G
(ENLARGED)

DRYWALL

PANEL CLIP
FRAME INSTALLATION

  8.  ACCESS TO THE BACK SIDE OF THE WALL IS REQUIRED TO INSTALL AND MAINTAIN 1XXXHS MODELS.  THESE MODELS 
ARE SUITABLE FOR WALLS WITH DRYWALL (5/8" MAX) SHEATHING ONLY.

  9.  INSTALLATION PROCESS OF FRAME(S) FOR SINGLE AND DOUBLE FOUNTAIN MODELS IS THE SAME.  INSTALLATION OF A 
SINGLE FOUNTAIN MODEL IS SHOWN FOR REFERENCE.

 10. REMOVE DRYWALL TABS FROM THE BOTTOM OF THE FRAMES BY BENDING ALONG PERFORATIONS (DETAIL D).
 11. MOUNT FRAME ASSEMBLY INTO WALL CAVITY FROM THE BACK SIDE OF THE FINISH WALL USING STRUCTURAL SCREWS 

(NOT SUPPLIED, 12X FOR SINGLE FTN MODELS, 16X FOR DUAL FTN MODELS), USE SHIMS AS NEEDED AND ENSURE THE 
FRAME IS SQUARE.

 12. INSTALL THE 2X PANEL CLIPS USING #10 NUTS (SUPPLIED) AS SHOWN (DETAIL E).

UPPER 
PANEL 
CLIPS

D

SINGLE FTN 
MODELS

18 5/8" 
[473mm]

DUAL FTN 
MODELS

37 1/4" 
[946mm]

© 2024 Haws Corporation - All Rights Reserved.  HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

 

THIS DOCUMENT IS TRUE AND CORRECT AT TIME OF PUBLICATION. CONTINUED PRODUCT
IMPROVEMENTS MAKE SPECIFICATIONS AND MEASUREMENTS SUBJECT TO CHANGE WITHOUT NOTICE.

APPROVED:

DRAWN:

PART NUMBER

SCALE:

REVISIONDHP 12/15/22 1
1:20JU 07/08/24 DRAWING TYPE: SIZE:   A

6000
BY:

DHP

INSTALLATION

DATE:

DATE:

REV. ECN:
6000

CHK'D.:

MODEL(S)

1455 KLEPPE LANE
SPARKS, NEVADA  89431

(775) 359-4712  FAX (775) 359-7424
E-MAIL:  HAWS@HAWSCO.COM
WEBSITE: WWW.HAWSCO.COM

DHP
ECN:

SHEET 6 OF 6

0510002253.DHS11 & HS12, IN-WALL FRAME

P
A

G
E

 6
 O

F 
6

P
A

G
E

 6 O
F 6

R
EA

R
 A

C
C

ESS FR
A

M
E IN

STA
LLA

TIO
N

R
EA

R
 A

C
C

ES
S 

FR
A

M
E 

IN
ST

A
LL

A
TI

O
N


